
Defender Rear Bumper, Polaris General™ Instructions
hmfracing.com/equipment/polaris-general/defender-rear-bumper-polaris-general/installation

Installation
1. Install the (4) M8 carriage bolts, washers and nuts and bolt the rear bumper under the
dump bed.

2. Align the Rear Bumper and tighten.

Discussion

Hardware

 (4) Bolt - Carriage - M8-1.25 X 20

 (4) Nut - Nylock - M8-1.25 1/2

https://www.hmfracing.com/equipment/polaris-general/defender-rear-bumper-polaris-general/installation


 (4) Nut - Nylock - M8-1.25

 (4) Washer - Flat - 1/4"

* Click thumbnails to enlarge

© Copyright 2020, HMF Engineering  •  5111 West 164th Street  •  Brookpark, Ohio 44142

terms privacy 

2/2

https://www.hmfracing.com/terms
https://www.hmfracing.com/privacy
http://robot-ninja.net/?referer=hmf

	Defender Rear Bumper, Polaris General™ Instructions
	Installation
	Discussion
	Hardware


